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res=l K& (7 DA TR [P 1 JELH 2 JR 3 JELH 4 JELH 5 JE 6 JEEBEH RS JEj JEAE.
1] 1666 | KJII #EF | 4447 VA BAFAd| 3| 10m20 | 0.0| 9mdl [0.0| 9m52 |0.0[ 9m08 |0.0 x ® 10m20 0.0 3
2| 1668 | ok i, |~x s | BFAdh| 3| 12m02 | 0.0 x 1m99 | 0.0{ 11m76 |0.0| 11m73 [0.0 x 12m02 0.0 1
3] 1665 [kl K| *pre 2y | BRI 2 DNS
4| 1667 | 1T BRI | vy 4 w7 | BRI 3 3 11m65 | 0.0| 11m40 [0.0| 1Im83 |0.0 3 11m77 |0.0| 11m83 0.0 2
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res=l o RA (7 DA TR [P 1 JELH 2 JR 3 JELH 4 JELH 5 JE 6 JEEBEH RS JEj JEAE.
1| 16 |R&ES B2 b pz| BT 2 7m91l 0.0 7m96 | 0.0 3 8m50 | 0.0| 8m64 |0.0 3 8m64 0.0 3
2| 269 [N EA| AN 2 & HA 3] 9m00 | 0.0 3 8m58 | 0.0[ 8m95 |0.0| 8m60 |0.0 x 9m00 0.0 2
3| 156 | B MEFE (474 ah —&ESP| 3| 9mb57 | 0.0 9m59 [0.0| 9m48 |0.0| 9m56 [0.0| 10ml5 |0.0| 9m28 [0.0| 10ml5 0.0 1
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